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Direction (Q.N. 1-5) : @ Which year has the maximum export?
Study the table carefully and answer the

tudy the form o o arfireran frafa gom 87
questions that follow

In the f?llowing table, tota.l Exports and .lonrts \/ (a) 2017 (b) 2018
of 5 countries over 4 years (in Rs Crore) is given. (C) 2019 @202())

Study the table carefully and answer the given
questions. (I-import, E-export)
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Direction (Q.N. 1-5) :
Study the table carefully and answer the
questions that follow

In the following table, total Exports and Imports
of 5 countries over 4 years (in Rs Crore) is given.
Study the table carefully and answer the given
questions. (I-import, E-export)
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Which year has the maximum export?

for o o srftrean fraia ganm &7

(a) 2017 (b) 2018
(c) 2019 (@ 2020)
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— . Find out the ratio 00ne by country S
o and T during 2017-2020.

Study the table carefully and answer the
questions that follow Sa3m T %91 g 2017-2020 & ah'lq m T
In the following table, total Exports and Imports .
of 5 countries over 4 years (in Rs Crore) is given. ﬁ‘mﬁ% WW_WT “ qu :
Study the table carefully and answer the given ‘ 2 ‘) -
questions. (I-import, E-export) = /109 111
frdor (wd. 1 | 59) (3 — (b) —
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. Find out the ratio of export done by country S
Direction (Q.N. 1-5) : :
Study the table carefully and answer the and T d“rmg 2017-2020.

questions that follow Safm T %91 BT 2017-2020 & Q\TFT m m

In the following table, total Exports and Imports ﬁl’ﬂ"ﬂ Tar .
of 5 countries over 4 years (in Rs Crore) is given. a; 3'3 fTdl el 1 "sq )

Study the table carefully and answer the given

questions. (I-import, E-export) 109 ]
uruft @ LaEUdeR Ufgu @ yew el & SN 115 115
: (c) 108 (d) 107
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Direction (Q.N. 1-5) :
Study the table carefully and answer the
questions that follow

In the following table, total Exports and Imports
of 5 countries over 4 years (in Rs Crore) is given.
Study the table carefully and answer the given
questions. (I-import, E-export)
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Find out the difference between the average
export and average import for the country P.
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Direction (Q.N. 1-5) : Find out the difference between the average-

Study the table carefully and answer the export and average import for the country P.
questions that follow P 29T % for siaa frata @ s smaw %

In the following table, total Exports and Imports W
of 5 countries over 4 years (in Rs Crore) is given. ShT UdT T eT
Study the table carefully and answer the given (a) 7.25 (b) 7.75
questions. (I-import, E-export) 8 25 d) 850
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Direction (Q.N. 1-5) : Which year has the minimum average import?
Study the table carefully and answer the forq L] ﬁ m AT %7
questions that follow & ’

In the following table, total Exports and Imports (a) 2017 \(b) 2018
of S countries over 4 years (in Rs Crore) is given.
Study the table carefully and answer the given (C) 2019 (d) 2020
questions. (I-import, E-export)
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Direction (Q.N. 1-5) :
Study the table carefully and answer the
questions that follow

In the following table, total Exports and Imports
of S countries over 4 years (in Rs Crore) is given.
Study the table carefully and answer the given
questions. (I-import, E-export)

(WH. 1 ¥ 57)
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Which year has the minimum average import?
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Marshall Mcluhan's name is associated with
the assertion:

_Wier WaeA @1 A frefafes @ @ fEw
FfTRAT & WY Hag &7
(a) A message 1s a message/Tdh H29 U IV ¢,
\{B) The medium 1s the message/HIEH < 8,

(c) The message determines the medium
accurately

=y Mgy & S-d fwifta & 2,
(d) The message 1s the medium/F=<91, HIEAN 2,




Marshall Mcluhan's name is associated with
the assertion:

oot Aaciegd ohf A faafafaa O O feea
TR T oF AT Hag &7

(a) A message is a message/Ush Ha9T Ush H<9T &,
\(/6) The medium 1s the message/HATEaH =37 2,

(c) The message determines the medium
accurately

29T HTEAH i S-Sk fauifia &r =,
(d) The message i1s the medium/I—<3T, H=IH &,

uF #1 HacEd H Al NuE fGur 3 fE aem @ i
2 forad 3ae aad =g @ % difsan & IR & ag wgcgul
for Hewr frg SHR 91 8 © afesh "reFd g0 SEH

EEd|
fpd T3 H29T F1 AFEE 99T 3R GHIS W 9S4 ard g9
forg R

2 gg stfaard 21




Hret @t e fu U E: @
FYA-I; T 3T 30A ek & feives g
HAF-11; AUAT 3T AT HI & Frerivens £
IYYTH wUAT o el o, et fou T fawmeat

U ® WM 3UGTH I N 99 FITT:
a) poth Statement | and Statement [l are

correct/HI 1 3 11 31 @t &1

(b) Both Statement I and Statement II are
incorrect/ &I [ 3 11 A1 7T & |

(c) Statement I 1s correct but Statement I\l 1S
incorrect/Hd | el 2, fohq Ho 11 7Ted & |

(d) Statement I 1s incorrect but Statement II 1s
correct/Fe 1 Tad 2, foeg F9 11 7t €1

Given below are two statements
Statement-I: Truth and Falsehood are
predicates of Arguments

Statement-II: Validity and Invalidity are
predicates of Statements

In light of the above statements, choose the
most appropriate answer from the options
given below




Hrer S o= fau T §:

o1 T s s s Frerfean #T0) Given below are two statements
waIl: m_;‘"’ Wm::%ﬁﬂ:mg' Statement-I: Truth and Falsehood are
Iud™h HAAT o T T farameat .
b i i predicates of Argulfle.nts N
(a) Both Statement I and _Statement II are Statement-11: Valldlty and ln\’alldlty are
K/Z{ rect/He | 3R 11 a’h@ predicates of Statements |
b)/Both Statement I and Statement IV are i

incorrect e 1 3 11 2o &1) In light of the above statements, choose the
(c) Statement I is correct but Statement II is most appropriate answer from the options

incorrect/®a | &1 2, foheg F9 11 7o &1
(d) Statement I is incorrect but Statement II is
correct/®I 1 7Tad 2, foheq & 11 & €1

given below

Ans. ¢p) : ST 2@ 7T AT HAT JTGA @ FAlh
dsharaa (F9d) 9T Al 379 @ld @ auT A ()
a9 IAT TYg Sl 21gE JAGE KT Uk &9 2 I8
faoam= @ 21 = Igfs =1 fassd a7 afhaesa 2 59
3= dhdaraEl b =IO SE=Hisei fohar Smar 2 3HI 9 333
dsharaa, st fased &1 E=iefa & farg 8q a7 9= g3+
HLd 2, AT hadld 2 |

I OgEeT g (d6) forad fassd a8 = smar 20
=T d Hedld & A OrE=ad: 93 IOT 379 a8l 9hd =1




Given below are two statements

Statement-I: Small amount of atmospheric
Nitrogen dioxide NO>; is produced from
polluting sources

Statement-I11I: Most of the atmospheric NO, is
produced due to photochemical reactions in the
atmosphere

In light of the above statements, choose the
most appropriate answer from the options
given below

firer =r s feg T1g § -
HAA-1: UgEah HHidl 3O argasSeia Aargarsad
IJATaFEATE S (NO») ShT 279 giIAToT § Iarea &rar
=1
wHaAI-11: ST ERivT argHsSera JrEsarsaa =18
ATHATS S ohl SATET aTgH ST | RS- raraiaess
gfaf=FAaAT3IT <% K107 9T 21
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o A O SugTh SO ohl 99T ahifsTa:

) Both Statement I and Statement II are

correct/sh2= I 31T II =91 9ar 2 |

(b) Both Statement I and Statement Il are
incorrect/&Ha= 1 351T 11 &1 ITd 2 |

(c) Statement 1 1s correct but Statement I_NI 1S
incorrect/sh<g= 1 &l 8, fohg === 11 7Tad @ |

(d) Statement 1 1s incorrect but Statement Il 1s
correct/=ha= 1 Taaad &, foeg === 11 9 )




In order to transform the regulatory system of
Higher Education, the NEP proposes to set up %
HECI (Higher Education Commission of
India). Which of the following are verticals of

HECI?

A. NHERC Y B. NAS
JC. HEGC VY D. NCIVE
JE.NAC /"~

Choose the correct answer from the options
given below:

Ioo oTarr Sl g saasar & ®aiaiuT o
fora, u g Ot gRT ww S i anE (BT UShve

SHHIT_Tw IfEar) whfua @i ot g
ferar o 8 faafafega 9 9 o= € o =g =&

@ | 30 (aEwmew) 77

A. T T 3 AL H B. T T UH

C. U= g St =t D. T | 31E ot g
E. T3 @t

Hrar fau 7o fasweat & 9 9@d 39 &1 wad
aﬂ'ﬁ“srq:

(a) A, B and C only/&aa A, B 31X C
(W A, C and E only/&ad A, C 3R E
(c) B,Cand E only/:c?l-ﬁ?'l B, C 3R E
(d) C, D and E only/&aa C, D 31X E




In order to transform the regulatory system of
Higher Education, the NEP proposes to set up
HECI (Higher Education Commission of
India). Which of the following are verticals of
HECI?

A. NHERC B. NAS
C. HEGC D. NCIVE
E. NAC

Choose the correct answer from the options
given below:

Ioa e & famme oasear & BT &
fo, = § ot grn wwr § i onE (¥ Uyt
HHIE 3w Efgar) wnfua &9 &1y
feram o &) ffeflaa o @ war § «f 3 mE &

I W 32U (afdamed ) &7

A. AT 3 3R H B. U7 T TH

C. uer g Sft |t D. U | 31E &t
E. T3 T Ht

Frer few 7o faweal @ O WE IR & w9
HITST:

(a) A,BandConly/aﬁﬂ A,BaﬁT C

(b) A, C and E only/&ad A, C 3R E

(¢) B,CandEonly/%ﬁFr B,Caﬁ'( E

(d) C, D and E only/&aa C, D 3R E

Ans. (b) : 3= Y & fams =mewen & HUiEor &
m,ﬁiﬁmﬁéﬁrﬂé(wqﬁm?ﬂﬁw
3w _2fean) wenfya = &1 y&a f6ar 7@ 2|

w9 ? 9 3R & affFew fead 8- /
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ich of the following state has maximum

installed yind power as per MNRE's Iatest®
report.

W ™ amﬁ & qaﬁqau.wﬁaaq & AR
Frefeftaa ® & form w5 # arfiraran wew et
&I g ¢ 7

(a) Andhra Pradesh/3T% S

b) Karnataka/&iee

(b)
(¢) Maharashtra/HeRT¥
(d) Tamil Nadwaerg [




Which of the following state has maximum
installed wind power as per MNRE's latest
report?

W W M § & T yivaes & am

frwferfias o ® form T ° arfireraw e Ft

T Yiegii &7

(a) Andhra Pradesh/31 %20
Kamataka/ﬁfﬁ

(b)
(¢) Maharashtra/TeRTY
(d) Tamil Nadu/AMeTg

:M@jﬁmqﬁéﬂ(zomﬁam@w-

Ans. (d)

T HET T
dfieg 9608.04
TSI 8561.82
TN 5000.33
FACH = 4938.60
TS 4326.82
Y Jeu 4096.65
demr 128.10
E2G 62.50

dfeIg U9 & BRI SHYHAH Ua Fsti Joaroid sl Sl

&1 ad Fofl, Holl BUIR0T 5 &G Foed 2ated @ s
| @mﬁaﬁmﬁqﬁaﬁmmﬁmmél
‘Fﬂ g Hol 1 Eid 2
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Statement I: According to Piaget, the ability to
solve conservation problems depends on having
an understanding of three basic aspects of
reasoning: identity, compensation, and
reversibility. v

Statement II: The stage of classification does

group the objects according to tha
characteristic. %

In light of the above statements, choose the
most appropriate answer from the options
given below

Hr=r 2 swas faa o E:

wHaA-1: faarst & 99, |77 |SHETsT’ &t

TCT Shid Sl AT dehAT oh o OcT Ugalell oh

ey gy AT @t ®: argram, ufie 3 e

faa==iar

wHAA-11: aifferyor w1 =ur feedt ues | o

TG I Wek faifdTEar oy shf-=a & 3T 3%

fafdregar & ER a¥gsit o AgERIuT &IAT

ferdt faameff =it arr=ar g oy =87 s/zar &

IUATH HAAT oh 3TTelleh H famAferfiaa fassear o

Tt 39T IgA:

(a) Both Statement I and Statement Il are correct/
FHI 1 3T 11 47 T& 2

(b) Both Statement I and_ Statement II are
incorrect/&a [ 31X 11 a1 TTad 2|

not depend on a student's ability to focus on a
single characteristic of objects in a set an \
( \&)

(c)/Statement | 1s correct but Statement II is
incorrect/&4 | &l 2, f%ﬂ HI 11 Te0d 2|

(d) Statement [ 1s inco\rrect but Statement 1T 1s
correct/HF 1 Teid 8, fhed 99 11 Wl 2|




Statement I: According to Piaget, the ability to
solve conservation problems depends on having
an understanding of three basic aspects of
reasoning: identity, c\(ypensation, and
reversibility.

Statement Il: The stage of classification does
not depend on a student's ability to focus on a
single characteristic of objects in a set and
group the objects according to that
characteristic.

In light of the above statements, choose the
most appropriate answer from the options
given below

Hr=r 2 swas faa o E:

wHaA-1: faarst & 99, |77 |SHETsT’ &t

T I Sl ARAAT dehAT oh di9 o1 Ggdsil o

=T v faddT aedt ®: arere=m, g 3 T

faa=i=frar

wHAA-11: aifferyor w1 =ur feedt ues | o

gl @ U fafdrgar o dfsa &= i s+

fafdregar & ER a¥gsit o AgERIuT &IAT

ferdt faameff =it arr=ar g oy =87 s/zar &

IUATH HAAT oh 3TTelleh H famAferfiaa fassear o

T TE 39T =4

(a) Both Statement I and Statement Il are correct/
HI9 1 3 11 41 T8 21

(b) Both Statement 1 and_Statement II are
incorrect/&a [ 31X 11 a1 TTad 2|

Ans. (¢) :

st & s19ER, difes faem &t 9 g _stawan gt
2 T S9N HUSE Sl @ 991 YE 9 § s
OIS Ud 3 Ead $ & FAdeR aradl e faamst
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sraeer | 2y | fervrean

/ Wi dgr ™l &1 3,
M Sl & g

gd 2-7 FTHLOTE AT, Fel: Sl

Vm FA, ScTHf=ar, Sie-

T "SI, &A1 HT FINT HEAT
— | HiE 2

ad 7-12 @ 9, aaffeptor,

/%’rmm HHMER  Ha™ I, U

—— | T wadar diwa €

T Y, RGeS dry

NEET A
37feren

3d: HI9 | T Ud 99 11 ATA ¢ Fifh el
&1 = fedt us 42 § axgsii & fafvrear w Ff=a
A AR 3% fARwd & o ER axqei &1 S
FT T farnddf & Fraar o fasft s 21




messages have more or less same
meaning for the audience. \

............. 9T et & fow gy e & ard
T §-
(a) Abstract/3d (b) Complex/sife

(c) Connotativef[[“ﬂﬁ% @) Denotative/a'iﬁﬂihj
\/




The Post Office protocol is
T TATEN - @ —

(a) Protocol used for sending e-mails
-0 WSld §HY gt AAMER

(b) Protocol used for transfer of files from one
computer to another computer

U FHP ¥ T FH d% R & A
30 S AdraR

(¢) Protocol used to handle e-mail attachments
§-Hel Heresh &l 9T 8q St AR
\(}‘ Protocol used when receiving e-mails from
the e-mail server/3-Hc1 X ¥ 3-Ha




The Post Office protocol is

ST AT §-

(a) Protocol used for sending e-mails
-0l ASld 999 S FATaR

(b) Protocol used for transfer of files from one
computer to another computer

U FFHLL § TR FFH % B o 3l
2d ¥t TR

(¢) Protocol used to handle e-mail attachments
§-Hel Horeeh &l G9Td 8q ¥t AR

(d) Protocol used when receiving e-mails from

the e- mall server/'st ad ‘aé’{ ﬁ I=f e

A, (0): L JETRIA 90 4 9 {7 T
TR (FEFTA) 31 POP & AR 8 00
27, AT £ 2 W 0 R 3

it v 4 4 8 -4 e o 4




Which one of the following is an important @
characteristic of the researchers involved in \
qualitative study?

TS Ed W T ynuahdisn @l
frefefige & & @ o T wgwaqul fafyrg
glell &7

(a) Enthusiasm/31@

(b) Non-partisan/9&f &

(¢) Reflexivity/Sfdfshareeh

(d) Transparency/URaIRId]




Which one of the following is an important
characteristic of the researchers involved in
qualitative study”

TE AR W W Mudde @
fwfefea @ @ @ W 1@ wewaqut fafea
gt &7

(a) Enthustasm/3Te

(b) Non-partisan/% fe

(¢) Reflexivity/SfefshaTeTa

(d) Transparency/TREfI

1) -yl WY § W YA @ A

| e v S e 3 o ) o

Ans. (c) : O I W &R & @ el &t o
foa 2~

foren 1 e aifhd 3 arem g AR
Qﬁg@qﬁﬁwﬁw—ﬁmmﬁaﬁmﬁﬁ
EEGECE coc kil Rl e
| foaml & AR e g Ay
Mwmammmﬁﬁml

YER & FAftdl § g9 3 a9 § Wew g AR
#2 Wy fafdi & 3 &6




- The number of characters in 8 bit ASCII code | | \A
(American Standard Code for Information
Interchange) is

8 fore amet v ww ot o o (amifiEw Wed
HIE WY SHHYI eTeiw) &g | au et de
............. £

(a) 128 b) 256 v

(c) 312 | (d) 64




- The number of characters in 8 bit ASCIT code | [y, 0" )" smifigy wed ar v o gewy

Y:tT:Crlnl?nng e)Sitﬁandard Code for Information eI W 39 O A TR A 41 ASCII 3

| [FR R I AR A I § 39 @
smaﬁqwﬁﬂﬁﬂﬁ(aﬁﬁmw sfoffira @ 21 fowmia ASCI & e fu 1 wa
S Y MY $2T) AIE W AW & WG| | ot ot s w256 31 @ § fm

............. t T A & ASCIIFTE 65 2

(a) 128 (b) 256 31: foaed (b) 7 2|
(c) 512 | (d) 64




. mooKIT platform uses , an open

source content management system.

Tt (THMATHATEE) Wewm @ g
W o A ofFa Ve Jel &y g
foraifir o T 7

(@) DRUPAL sR g it @
(b) JOOMLA/S! 31 31 W7 Ud U

(c) MOODLE/Ed (TH 31 31 & 1 §)
(d) SAKAI/TH T & T 3%




. mooKIT platform uses . an opqy/fms- (a) : mooKIT T ﬁ‘” R cER CE o el
source content management system, 21w o o & Fp ¥ fewed w foafe o

e (TR Wew & frerf |7 % T T ol 8, frva e s, fod 7

- : . STE & W9 W &9 & Tad 21 B fee 9
W ¥ i R 74T YA O 3 forw o o rm 21 e o 3@ ol o o

foeire oren T 7 e S A 7 A A A

gl Ui | ”
0 DRPALA R0 ¢ ah ML dubilubiy
(b) JOOMLA/S! 31 31 U7 Ugf U gt 3R FUAE a6 & S T 2

(c) MOODLE/E® (T & & & 1@ §) ;. FeT (a) 970
(d) SAKAI/TH U & U5 31




Which region of brain is involved in our ability (\ (,
to learn new information, particularly if it is

verbal?

ufteeh &1 @A @ & T3 ger, fow @ afe
9 VIeEE §, & RN @ gWH avaar §
e i ¢

(a) Cerebrum/Swfiash (Tm)

(b) Hippocampusf%“ﬂﬁ?mﬁ

(c) Pons/drd

\)eff Thalamus/3ewa




Which region of brain is involved in our ability
to learn new information, particularly if it is
verbal?

i @ &M W e T g, fow & Al

o VTS §, % W @ g A B -

ST B ¢

(a) Cerebrum/Sviids (TGMW)
b) Hippocampusm
¢) Pons/T4

0) Thalamus g/~

(
(
(

mrwrsTrE e T

Ans.(a,h,d):ﬁﬁﬂﬂﬁ%ﬂ?ﬁ,ﬁfﬁﬂﬁ%
s ¢, & o & awd awm § s a2
Ul e 3 S 3 R A 0 ]

U e a0 4




3 > 5 |

Given below are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R

Assertion A: According to Naiyayikas, the
fallacy of Savyabhicara occurs when the middle
term leads to different opposite conclusions.

Reason R: When the middle term is irregular,
it is distributively not related to the major
term.

In light of the above statements, choose the
correct answer from the options given below

fo @ owaw far w3 uwm  sifweew
(Assertion A) & ®U W 30T TEU IU&H HWU
(Reason R) & ®q H:

FMTHAT (A): ATIE & AN TSI &
39 BT § o B9 @ fire fadeft frewd forere
2l

&I (R): 91& g Aafha gar § a0 98 s
®U H Aed ¥ daifira T@f g g1

SUTTH AT & et |, Hrer fou faeweat o
T TE 3T T AT R

(a) A 1s false but R 1s true
(A) 316 &, T (R) §F 2|
(b) A is true but R is false
(A) ¥ &, W (R) 319 2|
(c) Poth A and R are true and R 1s the correct
\éplanation of A/(A) 3R _(R) @l 7 & 3R
(R), (A) &t T& IR €|
(d) Both A and R are true but R 1s NOT the
correct explanation of A/(A) FR (R) g g
& W (R), (A) FI G AT T 21




Given below are two one is labelled
as Assertion A and the other 1S labelled as
Reason R

Assertion A: In classroom communication,
teachers should acknowledge and take into
account students' views.

Reason R: In a classroom, the probability of
message reception c¢an be enhanced by
establishing a viewpoint.

In light of the above statements, choose the
correct answer from the options given below
Hrer @ = fag T € uss s rfuassud
(Assertion A) @ T W 3T TEIT STk hLOT
(Reason R) & B9 H:

IfTHAT  (A): HAT HUErT T Drarent =hmr
farenfei=t o =feenior =it =i &7 3% s o

TEFAT ATEUl
THIOT (R): HaadT | I(EHKHI0T ahl TATAT hT HI9T

WEUT il TUTSTAT ahl HSTAT AT TahdTl &1
IUITh Al o TTetes o, e fau fawear °
T TEN ST ohT oI9S Shifeg:

(a) A i1s false but R 1s true
(A) 33T 2, 93 (R) 94 2|

(b) is true but R 1s false
(A) 91 8, 93 (R) 379 2|

( Both A and R are true and R i1s the correct
explanation of A/(A) 3T (R) 4T ¥ & 31X
(R), (A) &I H&l =341 2 ~

(d) Both A and R are true but R i1s NOT the
correct explanation of A/(A) 3T (R) 4T 9o
g€ 9T (R), (A) Tl T& =ARAT AT 2 |




Given below are two statements regarding the
Router

Statement I: It enables data packets to be \”\
routed between different networks.

Statement I1: It works in the Data Link Layer.

In light of the above statements, choose the
correct answer from the options given below

Fet EeT & "Way W 3 wew fou T

HUA-1: Tg TA (22T1) Yawel @l firsr eaant

dter Ao | WEe B

aaa:.n:agaﬂﬁimémﬁmm%lﬁ

IULTh HU o ATl |, el feu v fawedt

(a) Both Statement I and Statement II are false
F9 | 3 11 a1 39 £

(b) Both Statement I and Statement II are true/
F99 | 3R 11 aF1 &7 &)

(c) Statement I 1s false but Statement II is

ue/EH | 379 8, foheg H9 11 5 2|
\(9)/;tatement [ 1s true but Statement II 1s false/

H9 | 9 8, fobeq 9 11 3757 2




Match List-1 with List-11 / _
- - g Example II1. [The mountain has fire
Steps in Inference Statements 7 Application IV.|The mountain also
A A. [Thesis (Pratijna) | 1. [Because of smoke LM panayR) 223 — b;mf?f:
\/ B. |Reason (Hetu) II. [Wherever there 1s like the kitchen
smoke, there 1s ﬁre, Choose the correct answer fro.m_the options
as 1n the kitchen given below/==r fau 7o faeweal & ¥ W& 397
SRS
T=it-1 @ g@=it-11 ¥ gataa sifaa :
T=lt-1 T=-11
( :-naﬁlﬁ'r o 9ars) [((HaT)
YA [sf (i), | L Jqd % s
B. |2d I1. |5/a seft a1 gar @ 3T
b e @, S E |
/ C. [zamor 1. [gda 9z 3mn @
BESED] V. [oda & gd & Trg, @rE
\1/) & ag, T off @

A B C D

a) 11 I [11 IV

(b) III | 11 1A%

(c) III I1 I IV
(d) III v 11 |




A total of 324 coins of 20 paise and 25 paise @
make a sum of T71. The number of 20 paise Ve

coins is

2omzsﬂﬁww%wm

wUA T O At g1 20 U & faaent @ gE
‘. —

(a) 124 (b) 125

(c) 144 (d) 200




A total of 324 coins of 20 paise and 25 paise
make a sum of T71. The number of 20 paise
coins is

20 3 25 U0 e & 324 foraent & A A 71
w0 @t T et g1 20 TR % frent @t den
z-

(a) 124
(c) 144

(b) 125
(d) 200

Ans. (d) : 71 20 T8 3 i 3 g G X2
@ 25 T4 & foaal 3t g e = (324 - x)

YR,
0.20 % x+0.25 (324 - x) =271

20x+25 (324-x) = 7100

20x+ 8100 - 25x = 7100

5x=1000

x =200

o 25 T o foaal 3 o dew=324-200= 124




If "All men are mortal' is given as True, then
which of the following options can be validly
inferred from it?

A. 'No men is mortal' is False

B. 'Some men are mortal' is True

C. 'Some men are not mortal' is True

D. 'Some men are not mortal' is False

E. 'Some men are mortal' is False

Choose the correct answer from the options
given below:

‘afy wvft e AP R A & wU H ugd §, @t

ﬁmﬁaﬁgaﬁﬁﬁﬁﬁmwwﬁ'&umﬁ
AT TAMAT AT Wehdl &2

A. ‘ThIE U A9 T8 & 3T §

B. &% A A9 &' 9T ¥

C. T ATA A AL &' T &

D. &S U 9T & & WA 8

E. &9 0d9 9T ¢’ 3@ §

Hr=r faweat & O Wt I @1 wEAH

A. B and D only/Fad A B 3R D
(b) A,Band C onlyfaﬁa A, B AR C
(c) A, B, C and D only/&ae A, B, C 3R D
(d) B, C, D and E only/&d@a A, C, D 3R E




Match List-1 with List-11

List-I List-11 A B C D
1/0 device Data transfer rate (a) |1 I1 [11 A%
A. |Disk \ =+ |50bps (b) 11 | [11 A

B. |[Mouse AL |1 Mbps c) IV 11 I [11
C. |Laser printer L. [ 120 bps é&L IV 1 11 D
V.

D. |[Keyboard | NV.[100 Mbps

Choose the correct answer from the options
given below

geit-1 @t geit-11 ° gafera st
i1 -1

T /fia SUaRTuT| S (2T) ST X

A. |fes I. (50 off df ug

B. (7139 II. |1 ws o 4t ug

C. [arsr fiiex [I1.1120 ff 4f ©&

D. [(#-arE) st [IV.[100 w7 &t ¢ uH

qed




CBCS is

(ay’ Choice Based Credit System
T ARG shiee Jued

(b) Credit Based Choice Scores
gz SMuRd 999 SIdis

(c) Criteria Based Choice System
A4 YR T84 Jolle

(d) Cniteria Based Creditable Scores
e MERT fageHa Sredich




=

United Nations Environmental Program
(UNEP) was the result of deliberations held

during

/"_\
gk WY UIiewuiEa @Emu (I U 3 )
frafefiaa ¥ & fawes = gu feam famet @t
giRuTe ar?

(a) Earth Summit at Rio de Janeiro in 1992/1992
ﬁﬁaﬁa-aﬁﬁaﬁﬁa‘w?ﬁﬁww
() Human  Environmental Conference

Stockholm in 1972/1972 # %WiFaW ﬁ
AT A9 gaiaoT g aq

(¢) Kyoto Protocol 1997/3412T Si2iahiad 1997
(d) Montreal Protocol 1987/ifead SEiarad 1987




Which of the following fractions is the

smallest?

formferiaa # ¥ @i ot fet wemm 7
(a) L1/16 (b) 29/40
CEPD (d) 65/80
M Lo WY v
& A C%
l’s - 0-—]’)"\{\/ Gb"

o




Which of the following fractions is the

smallest?
frferfiaa o & @i ot firs orgem 72
(a) 11/16 (b) 29/40
(c) 5/8 (d) 65/80
Ans. (¢) :

29

H _ 0637 22 —0.725 ISR
16 40

> 0625 6 _0.812

8 30

E@Hﬁa%%,ﬁ%gaﬂmo.ezs 21 S 3 fu=
o &7 2|




The number of Sustainable Development Goal§ @

0
WWM#F@T% B Q\J\va
a) 13 (b) 13 P~

(d) 19




b/ |

sgen ¥ foi e 7

168, 175, 182, svonny 260

(a) 13 (b) 14
(¢) 15 (d) 16

How many terms are there in the serie @




How l';all ¢ there in the series | J L
e o @' 7 N‘A/ @

168 175, 182, ....... @)‘/ o T V\}"

(a) 13 (b) 14
15 _ / (d) 16
ﬁAns. (¢) :JArithmetic formula:AP=a+(n—lE ) ;;
AP=]=266
- 1768 o
RaVR
266—168+1_11__1@
266 -168 +7 =
7n =105
n=13.
g § Fed 15 T8 2|




Survey research is based on which of the
following?

wdam vﬁu frafefigs & @ fem w amenfia
27
(a) Constructivism/{d-TdIg

(b) Hermeneutics/Sm&nd wiwiam
(c) Interpretivism/cAATHKA
(d) Positivism/Seaefdiq




Which of the following water borne diseases

may be caused by virus, bacteria and protozoa” /
frwafifgn & 9 @ W1 T T o, Q_)
e it et v & e &7

) Cholers@®~ (b) Diarhea 3R /7
0 Hcpantls/ﬂ%-ﬁu d) Typhoid 3T

e




Grants Commission, maintains

fagfaamea a9e= manT @ WETAITTET

ar=: Tagfaarerd E_Fﬁiﬁlﬁ U7 TR

T 31 ot u= § &) \ (“V)J &(

(a) e-Gyankosh /3~

(b) e-Pathshala /3-9139Te
z{c) Shodhganga /ST /

(

d) Swayam Prabha/X@dq41

INFLIBNET Centre, which is an autonomous
Inter-University Centre of the University \/

Q
/g(,d**" ?;r

=




INFLIBNET Centre, which is an autonomousl Ans, (¢/d) : FaAIGEIT e T &1 O Sl
Inter-University Centre of the University| |3: fasfommed ifetele YT U IR
Grants Commission, maintains W A d
fayfirrers Srgem AT A T T | o s s () 28 R 1953 3
o fagferrerdt &g eI (O @ W |sfiem i o o, w61 70 e & A

T 3 ot T 3 ) o, o o & i 195 ¥ d
(a) e-Gyankosh 3 Hfvfm g dufE e a9 T

(b) e-Pathshala /3-SraTeT

(c) Shodhgangaf?ﬁm

(d) Swayam Prabha/&F541




